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Question 1 - Multiple Choice

1.1, By using which of the following features it is possible to improve the speed of a
RDBMS from disk speed to memory speed?

Bufferpool &
Instance

Table

SMS

Uowg

].2, Integrated Development Environment (IDE) consists of:

1) Source code editor \/

2) Compiler and/or an interpreter /
3) Code visualisation tool

4) Build automation tools v/

5) Debugger or Profiler v

6) Version Control tool or adaptor ~/
7) Runtime test environment integration

22,3,4,5,6&7 <<

#

1.3, Which one is the correct Cloud deployment models?

() aaS, Paa$, SaaS &
b. IaaS, QaaS, SaaS £
c. PaaS, CaaS, SaaS X
d. JaaS, PaaS, ZaaS x

1.4, Which of the following statements regarding loggings is correct?

@A message entry is a clear and concise message intended for end users and \/
administrators to view, whereas a trace entry is a complex and detailed message

intended for engineers or developers to use. e

B. A message entry is a clear and concise message intended fo@ or )\
developers to use, whereas a trace entry is a complex and detailed message intended

for end users and administrators to view. S

C. A message entry is a complex and detailed message intended for €ngineers.or

developers to use, whereas a trace entry is a clear and concise message intended for /<
end users and administrators to view.

D. A message ently is a complex and detailed message intended for end users and
e
administrators to view, whereas a trace entry is a clear and concise messagé intended

for engmeexs or HCVGIOPGIS to use.
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@ Business Intelligence system do:@\elp Retails store management

A. Find out insight from historical data

B. Discover trend of Sales pattern by season

C. Calculate discount for customer at cashier

D. Improve the efficiency for the marketing promotion

£ 1.6, Which of the followings is NOT the responsibility of On-Demand Router ' |
(ODR)?

A. Keeping track of application/user/etc resource usage v
. Ensuring higher priority applications/users/etc are serviced first VA
DMZ XML firewalling and threat protection
D. Starting/Stopping JVM's to meet demand v

._% 1.7, Which of the following is NOT a feature of IBM WebSphere Portal?

y A. Deliver highly personalized experience v
%Leverage existing investments \/
(C. Deliver a front-end to Service Oriented Architecture (SOA) Vv
Help software developers design and develop applications K

- 1.8, Which i component in IBM SmartCloud Provisioning setup?

a. Storage Node v \/
b. Compute Node
c. First Box

d. Firewall 4@ K

1.9, What kind of technology that is using in Cloud Provisioning (eg IBM
("~ SmartCloud)? :
a. Google File System
b, OpenSource.org Hadoop
(97/’ Apache Hadoop
d. IBM GFS

v
1776 » Which of the following out-of-the-box feature of WebSphere Portal has rich text

editor and helps you publish news, announcement and company information?

M‘”‘QO A. Links and Bookmarks Portlet
P B. Web Content Manager =
- 8 C. Web Application Integrator <— X

- D. Google Gadget Portlet
2 4 T
W eb S;JL‘W@ %

Question 1 - p2



IBM Inter-University
Programming Contest 2012 o

A 1.11, Which of the following i§ NOT/benefit of Static Analysis

@Jnderstanding software component behavior by using data collected during the
&Xecution of the component, ,

B) Ensure that the source adheres to a predefined coding standard N4

C) Detect common performance problems Vv

D) Understand the dependencies of the imports of each class \/

e <
Qy? What are the characteristicspre-Cloud middleware havie?
1 High TCO \/
2 Low utilization «/
3 High maintenance cost N
4 Fast time-to-market

A 1&3

B.1,2&3 :
T1,2&4 &
D. All of the above <~

""Tﬂ, Which of the following is NOT design pattern state in Design Patterns:
Flements of Reusable Object-Oriented Software

— =l
\ C i A) Factory Method _ h
‘j§§\ ,B) Bridge
Null Object <~

DY Command

~

@, Which of the following is unstructured data?

- A. Sales transaction record for retails store &
' lh B. No of minutes usage per mobile device
C. Sickness description in Patient records
D. Average speed per trains in China for each track

3@5, The Benefits of Business Intelligence is/are:
/\‘ A) Helps align the organization towards its key objectives <’=
! B) Improve Database performance by leveraging the temp tables <

C) Monitor the servers performance by actively scanning the key components  »
D) All of the above
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Question 2.1 (50 Points)

Login logic for our eCommence Portal.
Requirements
~ Add logic in the login screen to direct the user to the correct page based on his/her

user type.

The login screen is implemented by LoginPage,jsp in which it calls the java program

LoginServietjava.

In LoginServiet java, fill in the missing part to
s Redirect the admin user (with user type “A”) to the page admin,jsp,
¢ Redirect the special user (with user type “S™) to the page SpecialUserPage.jsp,
e Redirect the customer (with user type “C”) to the page customerjsp.

The above logic is illustrated in the following diagram:

LoginPage.jsp

LoginServiet.java

‘A’ ‘C’
18’
admin,jsp SpecialUserPage.jsp customerjsp
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~

Target Results
To score points for this question, achieve the followings: (Score will be given based

on the each type of user login)

1. Log in the page using user name “admin” and password “password” in Firefox
http://localhost:9080/Q1Web/LoginPage.jsp.

; Llj LoginPage -

User Name: |admin j

Password: |esssvsss| |

The user will be redirected the page admin. jsp:

]__'} Administration Page - -

Welcome admin

2. Login the page using user name “adminoo” and password “Abcdef12” in Firefox

User Name: |adminoo |

Password: kewuwe‘ i

The user will be redirected to SpecialUserPage jsp:

1) specialUserPage

Welcome Special User: adminoc

3. Login the page using user name “‘Paul” and password *“password” in Firefox
http://localhost:9080/Q1Web/LoginPage.jsp.

s

User Name: {Paul

Password: [sessesss |

Welcome Customer: Paul
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Hints and tips

The program LoginServlet java can be accessed under Q1 Web in RAD Package
Explorer on the left panel.

e Q1Weh

B 5R Q1weh

~$5 Java Resources

%3% Login

: LoginSetvlet, java
ﬁ - D UserBean. jana

I UserDianG, java

i
¥
¥
i

s
h
1
N
H
3
‘
&
g

5
i
N
s
H
i
i
3
h
H

Double click to open LoginServiet java:

Flo Edt Sowce Pefactor Novigste FProject

e QR G L@

R

GRS R N

38 Peckage Explorar 13

;,Aackagc Logins

% bmpert java. io. JOEXcaption:
2 pun

vdel degdunmitatloen clasy LogluServiet

R B2rv L4t 7/ Loghadery Lan )
puilio class LoginServlet extonds HotpServilet (
private stotic Linal long seraelVersioalID = fhe

= st
% fawe Butpfere LevfEitpien
s/
puslis LoginServlsv() {
super{};

precdicns | Eicnnmce (qs Sarveis 1

B TRE System Dbeary (¥ &
i} 54 Wehtphers Appbzation Server v8.
& 5 WehCortant

&
, &

B
1B Q6 frsaned,

1 et logerr

Press Ctrl-F to start the searching. Enter “missing”:

FEo s S0

if {proceasbrO{urer})) ¢ 3“2& Kt_ o

7iGet zession attribuwe N

HttpSessien ression = reguest.geriesrion{irus); )

nession.sevitrribute (esirentIarsionbsen®, usexr): oo H e

AL R LR R L LT E P e e § 'S bpodt de
# Leeh Sele] pert ) il ® 2] Logeseny,
3% o
: & [N LogrSviztifave b else ( & e
. #-[7] therbesnjovs responze, sendRedirecr (f1nvel ldleyin, t3p7) ¢ @ Logt
+ - -
U B e ave ) € a dody,
B T Systom Livory 1 } vateh (SQLExceprion e} { < a e

evprintdcackiracel)}

B WehiSahere Apph
B Web App Lbraies

Bt

B kvadogh.jsp
Loghosga.sp
SpectslsarPags b

= RE Sysrem Lieary [reitabae b
29, WebSpbere Apoicsbion Seiver v

T 7
3 Vrgable Lemat et | agim
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Fill in the missing part with the conditional statement for checking user type of the

login user and perform the page redirection.

After completing your coding, you can see your result by right click on the
LoginPage.jsp and select “Run as” -> “Run on server”.

A PR N R R K - R

58 sopviesl.. " CIHG¥ Lowroese 110

how '
___________ ARASHIEHY P
3 1
12
i
s i
ulsy
Delete
e Mavigpion '
METAINE £z
WEG-INF
&\ hehesh . i
# i '
Valrdets

% Servers B Dot Source Explover | T Srippets {153 amotalins | B Cornsle

V8.0 8 kseathost (WebiSphare Applization Server ¥3,0)

Rk

¥5 1 R Serven
Diebuy As
Profite A3

FB & s on Mabde Troviser Simesarer (Beta)

Arrshdrai, g

rebronrainer Virtuaibontl

Team Run Zonfigurations. .,

serviet

113 Application startecd: Q1
113 Composition unit WshspY
I cemdibm, vs. vehoont siner.secviet,

H
H

Compare Wi + FO%Z CBTTUB00REE
Replaze With i
A Pege Tomdiste ¥
-~ = Saurte +
i sl LogaPeat. kPl gpa tegts ’

Select WebSphere Application Server v8.0 at localhost and press “Finish”.
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Rur On Server

Select which server to use

How do yvou want to salect the server?
@ Chc-osg an existing server
{TyManually define & new server

Select the server that you want to use:

§ type filter text

& (& locahost

Y AINY Test Server *ﬁﬁg

£
L

topped

WwebSphere Application Server v8,0

[ always use this server when running this project

[Thees ) [ Foeh

&

& Restore

.~ Mhitrdze

e

X Close Alt+F4

Java Resources
B B JevaSuint Reselaces
H

&, Securzy Edtor

Login

15 WebContent

B (& META-INE

B (& wee e

admin,jsp

3] invakdiogin.gp

53 LoginPaga.jsp

7 SpecialluserPage. lsp

12 Markers ! 5 propartios [(3?5 Servers g@ Data Source Exglorer | £2) Snippets (f‘@ Amotations | & consele

WebSphers Application Server vB.0 at locsiost {WebSphere Agplcation Servet v8.0)

YisSessionCor I SessionContextRegistry getSessionCor
T com. 1bm. ¥s.vebcontainer.VircualHost]
K¥SVROZZ1Is Applieation startved: Qf
Compusition unit Ysb3pl
I tom. ibwm.es, veboontainer.serviet. Ser

[1/31/12 17:46:43:078 C3T] 00000017
{1/31/12 1734861441343 CST] 02000017
[1/31/12 17:46:44(35% CST] 000COO17
[1/31/12 17:46:44:375 CST] 0ODOOO17
[i/32/12 17:48:07:062 C3T) 0000D0ZS

Applicationdy & -
Compositionlin A

i Dora ,
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Appendix

Source code for LoginServiet.java
package Login;

import java.io.lOException;
import java.sql.SQLException;
import javax.servlet.ServletException;
import javax.servlet.annotation.WebServlet;
import javax.serviet.http.HttpServiet;
import javax.servlet.http.HitpServletRequest;
import javax.servlet.http.HttpServletResponse;
i/mport Javax.servlet.http.HttpSession;

koK

* Servlet implementation class LoginServiet
%

@WebServlet("/LoginServlet")
public class LoginServlet extends HttpServlet {

private static final long serialVersionUID = 1L;

/**
* @see HitpServlet#HitpServiet()
*/

public LoginServlet() {
super();

// TODO Auto-generated constructor stub

/**

* @see HitpServlet#idoGet(HttpServietRequest request, HttpServietResponse response)
%k

protected void doGet(HttpServietRequest request, HttpServletResponse response) throws

ServletException, 10Exception {

&

// The object "user" will store the username and password in the login screen

/!

UserBean user = new UserBean();

try {

// Obtain username and password and store in the object "user"

user.setUserName(request.getParameter("un"
user.setPassword(request.getParameter("pwd")

// To check whether the username and password is valid

user = UserDAO.login{user);

if (user.isvalid(}) {
//

//Set session attribute

HttpSession session = request.getSession(true);
session.setAttribute("currentSessionUser", user);

o s o ol ohe o ol ok ok o ok sk ok ok o ae stk 3R o sl ok B kb oK oK sl ok ol o o ok ook ok ok sk e e ok e e ok SR o o S ok ol ok R B SRR R R RO SR R R R ok R sk ke K

EE AL ELE L LR

// Missing part:

// - You should redirect the user to the correct page based on the user type
/1 - User type can be get using the function user.getType()

****************************************************************************

EEE S T P T ]
}else {

response.sendRedirect("invalidLogin.jsp");
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b
} catch (SQLException e) {
e.printStackTrace();

}

/**
* @see HttpServiet#doPost(HttpServletRequest request, HttpServletResponse response)
®

protected void doPost{HttpServietRequest request, HttpServletResponse response) throws ) |
ServletException, I0Exception { !

// TODO Auto-generated method stub
}

Question 2.1 - p7
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Question 2.2 (50 points)

{opic

'Wm%oduct Information for Product Maintenance.

—

Requirements

Add logic to complete the administration menu for updating product information,
The administration menu consists of 2 webpages, which are }Idnzin]&/[enu,jsi &

(Opate 5 b
Run the administration menu using the AdminMenu.jsp.

AdmuinMemnu

- Product - - et e ot

: You have added 9 product(s).

! Product Name Description Unit Price Quantity  Action
Seasén Buffet Intemational Cuisine 100.0 100 Updare
Orange Orange 2.0 200 Trdate
PhonedS I Phone 48 5000.0 50 Dpdate

- Buffet Coupon Buffer Coupon 1500 300 Update

! Yoga Course Yoga Course 5200 105 Uedate

4 days Beijing Trip 4 days Reifing Tnip 2000.0 20 Tpdate

{ Hot Dog Hot Dog 150 13 Tipdate

i T - Shat Folo T - Shirt 800 100 Updars

Shoes Red Ring Shoes 12000 100 Dindate

By clicking the "Update" links in the "Action" column, the Update. jsp will be executed
and displays the details of the product. Two fields (withhull Valuei have not receive the
value selected from database as shown below.

Update Product

Pleage fill in the form

L(FJCU@/ 'FJVC[‘/\Q“."L
(wito Pric, =
QUAN TTTY =

i
: Lt
|
i

DMW“‘/“U\)M s

Preduct nanie: nolip—
o puse b —
Unit Price:  jnull

* =
. Quantity: }1 ‘Sp_,';Q«
[ e e e e
International Cuisine

. Description:
[

[ Updetel
In Update.jsp, fill in the missing part to

P v

eSetup the two fields receive the value selected from database.

2y
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Target Results

To score points for this question, achieve the followings: (Score will be given based on

the result returned for different fields)

1. Access the administration menu in Firefox

http://localhost:9080/Q2Web/AdminMenu.jsp.and press the “Update” link, the

product information should be listed in the update form.

Update Product

~ Please fill in the form- - o

Product natae: Season Bulfet

Unit Price:  [100.00 |

Quantity; ngm

Internatiocnal Cuisine

Description;

#

2. The program should update the product information on the Admin Menu, after

inputting new Product information at the update form and press the update button.

Update Product

-~ The Product is successfully npdated.-
Product Mame: Season Buffat
Description:  Interational Cuisine
Tnit Price: 100.00
Cuantity: 200

Back to Admintden
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Hints and tips

Open Update.jsp and search for the missing part, you can use the steps described in
Questionl to open the Update,jsp in the RAD console and search for missing part

DL

& 24 gzweb

| @5 Qaweb

| W dava Resources
Lo JavaScript Resources
i Security Editor

i[5 Web Site Navigation
B (& WebContent

B {5 META-INF

: B {5 WEB-INF

: ; -[&] adminMenu.jsp
“fi] Update.jsp

& 03
. |

Fill in the missing part for variables "Pname" and "Uprice" to get the value of result set.

¥
if (Descip == mall){

}
/% missing part

#g

if (r& 1= null) {
ra.olose{)

Lesgip = rs,getString (YDESCRIPTION") ;

Pleass Complete this relsaing part

This part is to receive the walus of product nsees snd unit

&

prioms L

After you completed your coding, you can use the steps described in Question] to open
the Update jsp in the RAD console and test the result.

We assume that the data type will be inputted correctly. The program will not provide

any data type checking process. For example, user will only input decimal with 7 digits

at"UnitPrice".
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Appendix
This is the source code for Update.jsp

<%@page import="java.lang.String, java.lang.StringBuffer" %>

<%@page import="java.sql.Connection, javax.sql.DataSource, java.sql.PreparedStatement” %>

<% @page import="java.sqgl.ResultSet, java.sgl.Statement” %> '

<%@page impori="java.sql.SQLException, javax.naming.NamingException,

javax.naming.InitialContext" %>

<IDOCTYPE HTML PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"><%@page
language="java" contentType="text/html; charset=1SO-8859-1"
pageEncoding="1S0O-8859-1" %>

<htmi>

<head>

<title>Update</title>

<meta http-equiv="Content-Type" content="text/html; charset=IS0-8859-1">

</head>

<body>

<h1>Update Product</h1>

<div style="width:600px">

<fieldset>

<%

try {

/{ Receive Parameter

String PID = request.getParameter("PID");

String Pname = request.getParameter("Pname");
String Descip = request.getParameter("Descip");
String Uprice = request.getParameter("Uprice");
String Quantity = request.getParameter("Quantity");

if (PID I= null && IPID.equalsignoreCase("") &&

Pname = null && IPname.equalsignoreCase("") &&

Descip 1= null && IDescip.equalsignoreCase("") &&

Uprice l=null && [Uprice.equalsignoreCase(""} &&

Quantity = null && Quantity.equalsignoreCase("")) {
//Update database ,Process after received Parameter

InitialContext ctx = new InitialContext();
//obtain data source from application server
DataSource windowsDS = {DataSource)ctx.lockup{"jdbc/ecomm”);

//Get connections from application server
Connection windowsConn = windowsDS.getConnection();

//Prepare statements in connection

PreparedStatement pstmt = null ;
pstmt = windowsConn.prepareStatement{“update product set NAME="" + Pname +
"', DESCRIPTION="" + Descip +"', UNITPRICE="+ Uprice + "," +

"QUANTITY=" + Quantity + " where PROID ="+ PID );

boolean flag = pstmt.execute();
if (flag == false} {
%>
<J-- Process if update successfully -->
<legend>The Product is successfully updated.</legend>
<table>
<tr>
<td><p>Product Name:</p></td>
<td> <%= Pname %></td>
<ftr>
<tr> )
<td><p>Description:</p></td>
<td> <%= Descip %></td>
</tr>
<tr>
<td><p>Unit Price:</p></td>
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<td> <%= Uprice %></td>
<ftr>
<tr>

<td><p>Quantity:</p></td>
<td> <%= Quantity %></td>
<ftr>

</table>
<%

}else {
%>
<legend>ERROR: The Product is failed to update.</legend>
<%

}

if (pstmt = nuil) {
pstmt.close();

if (windowsConn I= nuil) {
windowsConn.close();

}
} else If(PID l=null){

InitialContext ctx = new InitialContext();
//obtain data source from application server
DataSource windowsDS = {DataSource)ctx.lookup("jdbc/ecomm");

//Get connections from application server
Connection windowsCann = windowsDS.getConnection();

//Create statements in connection
Statement stmt=windowsConn.createStatement{ResultSet.TYPE_SCROLL_INSENSITIVE,

ResultSet. CONCUR_READ_ONLY);
ResultSet rs = stmt.executeQuery("Select * FROM Product WHERE PROID=" + PID);

int numRow =0;
if (rs 1= null &8 rs.last() 1= false) {
numRow = rs.getRow();

rs.beforeFirst();
rs.next();

if{Quantity == null){
Quantity = rs.getString("QUANTITY");

if(Descip == nuli){
Descip = rs.getString("DESCRIPTION");

/¥ missing part
Please Complete this missing part

This part is to receive the value of product name and unit price from the upper select

SQL statement.
*f
' if {rs I= nufl) {
) rs.close();

-
if (stmt = null) {
stmt.close();

if (windowsConn I= null) {
windowsConn.close();
}
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%>
<legend>Please fill in the form</legend>

<l-- The fill in form -->
<form method="POST' action='<%= request.getRequestURI() %>'>
<input name='PID' type='hidden' value="'<%= PID %>' />

<%
if(Pname 1= null && Pname.equalsignoreCase({"") §
%>
<input name='Pname' type=‘hidden’ value='<%= Pname %>' />
<%
}
%>
<table>
<tr>
<td»<p>Product name:</p></td><td><%= Pname %></td>
<ftr>
<tr>
<td><p>Unit Price:</p></td>
<td><input name="'Uprice’ type="text' size='10' maxlength='7' value='<%= Uprice %>' /></td>
<ftr>
<tr>
<td><p>Quantity:</p></td>
<td><input name='Quantity’ type="text’ size="10' maxlength='4' value='<%= Quantity %>
[></td>
<ftr>
<tr>
<td><p>Description:</p></td>
<td>
<'/FEXTAREA name="Pescip" COLS=40 ROWS=6><%= Descip %></TEXTAREA></td>
</tr>
</table>
<input type=‘submit' value='Update!' />
<fform>
<% &
}else {
%>
Please select a product to update.
<%

}
} catch (SQLException e) {
%>
<div style='color: red‘><%= e.toString() %></div>
<%
}
%>
<br/><a href="<%= request.getContextPath{) + "/AdminMenu.jsp"%>'>Back to AdminMenu</a>
</fieldset>
</div>
</body>
</htmi>
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Question 2.3 (100 points) PZp = PROID
Topic (ZW =y 49 CM&SJ‘“‘J D

Adding product for sell on to our eCommence portal

Requirements

Add logic to complete the adding product process.

The process consists of 2 webpages, which are Productlist,jsp and AddProduct.jsp.
Start the process by using the Productlistjsp: -

Product List
Froduy

You have added 9 produst{s).

Product Namne Desciption Unit Price Quantity
Geason Buifet Tutesnational Cuisine ] jily
Crenge Crrange 20 200

| TPhounds 1Phone 48 so0n S0

| Puffat Ceupon Euffet Coupon 1500 300
Yoga Course Yega Course 5260 105

i 4 day: Beimg Trip 4 days Beifng Trp 30000 30
Hol Do Hot Deg 150 13
T - Shart Pole T+ Shit 800 160

: Shoes Red Rang Showe 1200.0 L]

By clicking the "Add Product" links at the bottom of the page, the AddProduct,jsp will
be executed for inputting a new product and saving to the database.
There are 3 fields with “missing part” as shown below.

Add Product

PI&BSC’ ﬁ‘{: 1.(] tht ff/!'ﬂ\'“““" T T e o
Product name” ,wjtij

Urit Prics:  pissing part

Qvenlity: 1igsing park

Type missing pary

Descriptiont: n

<l ol }? ‘Q(/%) me

In AddProduct,jsp, fill i in ﬂl@lnlb,mn%pamt\\ Zé/ Aransei

e Get the sum o(Sold quantity (BQ UAMJOm TRANSACTION table for the Type 7) 7/
(CATEGORYID) of newly added product. Fill in the missing SQT statement, __ gl
and the missing logic to set the value for SumQuan. o

o Calculate a unique PROID (ncxt number in ascending sequence). Fill in the CO{‘ My Vb
missing SQL statement and t}EmHSmg loglo to set the value for tmpPROID.

e Complete the form which includes the following" gfields _

e Unit price (Uprice)-— text W( M /4)( 7/9) </WW\
e Quantity — text o 7 sl

o Type - drop down box
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For the Type parameter, the values should refer to the CATEGORY table in the

database:
Value Display Name
100 Food
101 Travel
103 Electronic Devices
102 Others

Target Results

To score points for this question, achieve the followings: (Score will be given based on

the fields returned in the form, the creation of the unique PROID and the correct display

of BOUAN)

1. Access the adininistration menu in Firefox
http://localhost:9080/Q3Web/ProductList.jsp and press the “Add Product” link, the
add product form should be displayed as shown below.

Add Product

i~ Please fill in the form

Product name:
Tnit Price:
Quantity:
Type:

%)
Trevel
Electranic Devices
Others

Descriphon:

Addi

2. After entering the new product information and pressing the "Add" button, the

new product information will be shown in the summary with the correct PROID (ie,

next number in ascending sequence) and the sold quantity of this product type BOUAN

as shown below.

Add Product

o New Product is added.

PROID: 112
Product Wame: Apple
Diesenption: Apple

 Unit Price: 4

" Quantity: 200

© Sold Quantity of this Produet Type: 117

Back to Product List
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Hints and tips
Open AddProduct jsp and search for the missing part, you can use the steps described in
Questionl to open the AddProduct jsp in the RAD console and search for missing part

-4 o3weh
-3y Caweb
P8 Java Resources
BB, JavaScript Resources
-y Security Editor
[ Web Site Navigation
2§ WebContent
B (5 META-INF
(G WEE-INF
Fj AddProduck, jsp
‘& Froductlist.jsp

Fill in the missing part for calculating the “SumQuan”, unique "PROID" and complete

an input form.

After you completed your coding, you can use the steps described in Question to open
the AddProduct jsp in the RAD console and test the result.

For joining tables, TRANSACTION.PID = PRODUCT.PROID
We assume that the data type will be inputted correctly. The program will not provide
any data type checking process. For example, user will only input decimal with 7 digits
at "UnitPrice".
A sample drop down box syntax is shown below:
<select name="form name'>

<option value ='database value'>display words

<option value ='database value™ display words

</select>
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Appendix
This is the source code for AddProduct.jsp

<%@page import="java.lang.String, java.lang.StringBuffer" %>
<%@page import="java.sql.Connection, javax.sql.DataSource, java.sql.PreparedStatement” %>
<%@page import="java.sgl.ResultSet, java.sql.Statement" %> '
<%@page import="java.sql.SQLException, javax.naming.NamingException,
javax.naming.InitialContext" %>
<IDOCTYPE HTML PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"><%@page
language="java" contentType="text/html; charset=|SO-8859-1"
pageEncoding="1S0-8859-1" "%>
<html>
<head>
<title>AddProduct</title>
<meta http-equiv="Content-Type" content="text/html; charset=1S0-8859-1">
</head>
<body>
<h1>Add Product</h1>
<div style="width:600px'>
<fieldset>
<%
try {
// Receive Parameter
String UID = request.getParameter("UID"});
String PROID = request.getParameter{"PROID");
String Pname = request.getParameter("Pname");
String Descip = request.getParameter("Descip");
String Uprice = request.getParameter{"Uprice");
String Quantity = request.getParameter("Quantity");
String Type = request.getParameter("Type");
String SumQuan = null;
String Visted = "N";
Visted = request.getParameter("Visted");
if (PROID I= null && IPROID.equalslgnoreCase("") &&
Pname I= null && Pname.equalsignoreCase("") &&
Descip I= null && !Descip.equalsignoreCase(™") &&
Uprice =null && Uprice.equalsignoreCase("") &&
Quantity != null && lQuantity.equalsignoreCase("") &&
Type I= null && IType.equalsignoreCase("") &&
IPROID.equals("0")) {

InitialContext ctx = new InitialContext();
//obtain data source from application server
DataSource windowsDS = (DataSource)ctx.lookup("jdbc/ecomm™);

//Get connections from application server
Connection windowsConn = windowsDS.getConnection();

//Create statements in connection

PreparedStatement pstmt = windowsConn.prepareStatement("INSERT INTO product
VALUES ("+ PROID +", "+ Pname +", "+Descip+", "+Uprice+", "+Quantity+", "+UID+", " + Type +", 'F',
‘F‘)");

boolean flag = pstmti.execute(};

Statement stmt=windowsConn.createStatement(ResultSet. TYPE_SCROLL_{NSENSITIVE,
ResultSet. CONCUR_READ_ONLY);

ResultSet rset = null;
/*
rset = stmt.executeQuery("Please Complete this missing SQL statement. "});

rset.next();

SumQuan & reset.getString("Your column name");

*

if (pstmt |= nulf) {
pstmt.close();
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if (windowsConn = null) {
windowsConn.close();

}
if (flag == false) {

%>
<legend>New Product is added.</legend>
<table>
<tr>
<td><p>PROID:</p></td>
<td> <%= PROID %></td>
<ftr>
<tr>
<td><p>Product Name:</p></td>
<td> <%= Pname %></td>
<ftr>
<tr>
<td»<p>Description;</p></td>
<td> <%= Descip %></td>
<ftr>
<ir>
<td><p>Unit Price:</p></td>
<td> <%= Uprice %></td>
</tr> ‘
<tr>
<td><p>Quantity:</p></td>
<td> <%= Quantity %></td>
<ftr>
<tr>
<td><p>Sold Quantity of this Product Type:</p></td>
<to> <%= SumQuan %></td>
<ftr>
</table>
<%
}else {
%>
<legend>ERROR: New Product is failed t6 add.</legend>
<%

1
} else if{PROID I= null && [PROID.equalsignoreCase(""} && Visted.equals(*Y"))
out.printin{"€rror!");

else {
if (UID == null)
UID ="1004";
Visted = "Y";

InitialContext ctx = new InitialContext();

//obtain data source from application server

DataSource windowsDS = (DataScurce)ctx.lookup("jdbc/ecomm”);
//Get connections from application server

Connection windowsConn = windowsDS.getConnection();

//Create statements in connection

Statement stmt=windowsConn.createStatement(ResultSet, TYPE_SCROLL_[NSENSITIVE,
ResultSet.CONCUR_READ_ONLY);

ResultSet rs = null;

int tmpPROID =0;

/¥ missing part

//This part is to calculate the ungiue PROID.
rs = stmt.executeQuery("Please Complete this missing SQL statement.");
rs.next(); .

//Please complete this missing logic of setting value to tmpPROID
®

%>
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<legend>Please fill in the form</legend>
<form method="POST" action="<%= request.getRequestURI() %>?U1D=<%=UID%>'>
<l-- Please complete this missing part -->
<input name="Visted' type='hidden’ value='<%=Visted %>' />
<input name='PROID' type='hidden' value='<%=tmpPROID %>" />
<table>
<tr>
<td><p>Product name:</p></td>
<td><input name='Pname’ type="text' size='10" maxlength="30"' /></td>
<ftr>
<tr>
<td><p>Unit Price:</p></td>
<td>missing part</td>
</tr>
<ire
<td><p>Quantity:</p></td>
<td>missing part</td>
<ftr>
<tr>
<td><p>Type:</p></td>
<td>missing part
<l-- sample drop down box syntax
<select name="form name'>
<option value ='database value'>display words
<option value ='database value'>display words

</select>
—
</td>
</tr>
<tr>
<td><p>Description:</p></td>
<td><TEXTAREA hame="Descip" COLS=40 ROWS=6></TEXTAREA></td>

<ftr>
</table>
<input type='submit’ value='Add}' />
</form>
<%
if (rs 1= nult) {
rs.close();

}
if (stmt I= null) {
stmt.close();

if (windowsConn 1= null) {
windowsConn.close();

}
} catch (SQLException e) {
%>
<div style="color: red'><%= e toString() %></div>
<%
}
%>
<br/><a href='<%= request.getContextPath() + "/Productlist.jsp"%>">Back to Product List</a>
</ffieldset>
</div>
</body>
</html>
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Question 2.4 (200 Points)

Topic
After the website been running for while, data on how customer behaves has been

collected. Your management would like to use this information to increase the cross

sell opportunity. All information is stored in the ecomm database “productrelation”
table.

The “productrelation” table consists of the following data.

All category relationships are stored in this table. Each row in the table represent the

element on the left relates to that on the right.

CATNAME1L CATNAMEZ
A B

A D

B C

B H

D E

G P

G z

I M 1
] K \
K S .

3 4

o O—® ; o O

When you input S (name of the category) in the search text box, the expected result
should be “K, J” which is the complete set of category in tree 4. Since (J, K) & (K, S)
has a common category “K”, (I, 8) is a transitive relationship or vice versa. (e.g.,

when J is search, S, K should return)
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Requirements
Modify the existing getSubSer() function in DB2CategoryDAO java.

The searching process is implemented by the java program DB2CategoryDAO.java,
and run the login logic using the searchProduct,jsp.

When input “A” in the Product Category box and press submit, the current program

only return “B” and “D”",

L relationship is listed bhelow:
[E, D]

In DB2CategoryDAO java, fill in the missing part to
e fulfill the requirement listed in the background session which is returning the
complete set of category which is in the same tree whenever one of the
category is seached. For example, when A is searched, it should return B, C,
D,E & H.

The following diagram illustrates the searching procedure.

2. call search servlet
: BearchServietjava

. \ 3. retdeve dals
/
i
\" 4,

User ~_ 1. input name '{the category e
x\“\ PUET ,/")J A ~—-___~_::::“ processing data

i rd
\ BLOMMM — | DB2CategoryDA0. java
) searchProduct jep Database
é. o
HK__H_“_—HH \ __:»3 e
display the result e e

5 retur result
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-

Target Results
To score points for this question, achieve the followings: (partial score will be

rewarded for each relationship searching)

1. Access the search product in Firefox
http://localhost:9080/04Web/searchProduct.isp
Input J in the text box.

J [:j -search Praduct

Product Category |J || Submit |

If your implementation is correct, the result should look this

I E{ http:/ flocalhost:9.. let?proRelation=3 -

J relationship is listed below:
[K, 2]

Please note the following
e You are not allowed to insert/modify/delete any record stored in
“productrelation” table, otherwise no point will be awarded for this
question
o Duplicated result will de&u@:t points

e Order of result is not required
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Hints and tips

Open DB2CategoryDAO java and search for the missing part, you can use the steps
described in Question] to open the DB2CategoryDAO java in the RAD console and

search for missing part
&j'@_:;t Q4

S5 Qaweb

‘,gﬁ Q“’IW‘Pb

e Java Resources

PR 1 E g P IR
83 etere 0 15 \»?“‘é servees] = £ 5 (D) sockchedtRunsbles | G Customarttenu |51 searehiroduct.ysp :
mh g B ET AT actory. 18 = DBiDAOFEGLOLY EXRCULEONET ¥ (SEALChOUELY) £
¥ 2 o
it o

hoolean iskExist = DB2DAOFactary,zs.next{):
iff (isExist)
return true;

rveturn false!
}

pohlio ArrayList<String, getSubSet(String cacNase) throws JQLException(
Jfwremte & array list foc storing results
l Arraybist<Stringh typelist = new Arraylisv<Suring>():
typel 15, add (catNane) ;
String = otfuery =
HEELECT 3 FROM ProductRelation VHEPE @atNemel = '" + catiawme + 'y
System, onb.println{" select guery ” + selectQuery);
bB2IAQFactory. 29 = DBIDLOFactory ,executeuery (gelectQuery)

1] DB2CategeryDAO java
[ sesrchserviet.java

while ({DBZDAOFactory.rs.next{)) {
{ladd a2l natohed Gategories oo che typelist
typelist, add (DEZDACFastory, rs. getStr ing ( *SATHAREZ ") ) ¢

EE I.R}ra:lo;
£ JavaSapt Resources
J Becurty Editor
Web Ste Navigetion
#5 WebContant

}
(’/?.Z& TR AT AR TR AR T AR TR NS T AN SR SR TSR LA I AR TENTEARN R T AR LRI AR TEATAT L LT EA TR L
{7 Hizasing pexns

F/Einal all relssionships swong catedories

J4¥ou can addfwodis he snisting sourve oode
”/t)\:#ttﬁf;tiﬁﬂi:k'ktizti:kﬁ:’\ﬁﬁi:k%tiﬁﬁi:*'&t&ab&:'\‘ttﬁ:.‘.\\:t‘.’nti:hstl‘h:‘\thi:!%

return typelist:

Bz JsvaSerpt Resources
; % Sscurity Edior

{ Markars ]’[.7 Propertiss ] 4 Servers ]@% Data Source Explover |
WshSphere Applcation Server vB,0 at tozabwst (WebSphere Applcztion Server v8.0)

% Snippets ]["% Annatations 1{&3 Consale §3 \

(& % B

sble f Srasrt Insert
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This is the source code for DB2CategoryDAO.java
package Category;

import java.sql.SQLException;
import java.util.ArrayList;

import Factory.™;

public class DB2CategoryDAO implements CategoryDAO{
public boolean isCategory(CategoryBean bean)throws SQLException {
String searchQuery =
"SELECT * FROM ProductRelation WHERE catName1 = " + bean.getCatName() + "
OR"+
" catName2 = " + bean.getCatName() + """,

// System.out.printin(" search query " + searchQuery);

DB2DAOFactory.rs = DB2DADFactory.stmt.executeQuery(searchQuery);

boolean iskxist = DB2DAOFactory.rs.next();
if (isExist)
return true;

return false;

public ArrayList<String> getSubSet(String catName) throws SQLException{
//create a array list for storing result
Arraylist<String> typelist = new ArrayList<String>();
typelist.add{catName};
String selectQuery =
“SELECT * FROM ProductRelation WHERE catNamel = " + catName + "™
System.out.printin(" select query "+ selectQuery);
DB2DAOFactory.rs = DB2DAOFactory.stmt.executeQuery(selectQuery);

while (DB2DAOFactory.rs.next()) {
//add all matched categories o the typelist
typelist.add{DB2DAOFactory.rs.getString("CATNAME2"));

/****************************************************************************
LRSS S S T ET S

/{ Missing part:
//final all relationships among categories
//You can add/modify the existing source code

****************************************************************************
EE R RS E T E LS

return typelList;

}
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This is the source code for SearchServlet.java

package Category;

import java.io.lOException;
import java.io. PrintWriter;
import java.sql.SQLException;
import java.util.Arraylist;

import javax.servlet.ServletException;

import javax.servilet.annotation.WebServiet;
import javax.servlet.http.HttpServiet;

import javax.servlet.http.HttpServletRequest;
import javax.serviet.http.HitpServietResponse;

import Factory.DAOFactory;
import Factory.DB2DAOFactory;

/**

* Servlet implementation class searchServlet
*

@WebServiet("/searchServiet")
public class SearchServlet extends HttpServiet {

private static final long serialVersionUID = 1L;

Rk

* @see HitpServiet#HttpServiet()
*/

public SearchServlet() {
super();

// TODO Auto-generated constructor stub

}

/**

* @see HttpServlet#fdoGet(HttpServietRequest request, HttpServletResponse response)
*/

protected void doGet{HttpServietRéquest request, HtipServletResponse response) throws

ServietException, I0Exception {
/{ TODO Auto-generated method stub

CategoryBean cat = new CategoryBean();
PrintWriter out = response.getWriter();

String catName = request.getParameter("proRelation");

try {

out.printin{processDAO{cat, catName));

} catch {(SQLException e} {
e.printStackTrace();
}

}

/**

* @see HitpServlet#doPost(HttpServletRequest request, HttpServietResponse response)
*

protected void doPost(HttpServietRequest request, HttpServletResponse response) throws

ServletException, IOException {
// TODO Auto-generated method stub
}

protected String processDAO(CategoryBean cat, String catName) throws SQLException {

//store category name
String categoryName;
//create the required DAO Factory

DAOFactory db2Factory= DAOFactory.getDAOQFactory(DAOFactory.DB2);

//open a new DB2 connection
DB2DAOFactory.createConnection();
//Create a DAO

CategoryDAQ categoryDAO = db2Factory.getCategoryDAO();

if (lcatName.isEmpty()) {
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¢ categoryName = catName.toUpperCase{);
cat.setCatName(categoryName};
boolean isFound = categoryDAO.isCategory(cat);

if (isFound) {
ArrayList<String> result = categoryDAOQ.getSubSet(categoryName);
//Close DB2 connection
DB2DAOFactory.closeConnection();
return catName + " relationship is listed below: \n" + result;
return "Sorry, category " + catName + " does not have any relation”;

return "Please input the name of the category.";
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Question 2.5 (80 Points)

Topic
Your website may offer deals that exceed the capability the offer owner can handle. To
avoid this situation, the system should notify the owner as soon as any of the product

sold exceeds the safety threshold set by the owner:

A java program called StockCheckManagerjava will

-Retrieve the database value and

-Determine the type of message to be sent

-Send the message to Netcool Omnibus

P Tl
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Reguir?ments
Modify fwo functions, sfeﬂﬂw_eg, JindMsgTvpe() in StockCheckManagerjava

which will make the Netcool Omnibus alerting system able to handle the alerts
=

Tivol Itegrated Ford

Oote:

The alerting process is implemented by the java program StockCheckRunnable.java,

Open ChangeSafety.jsp to 1@} the "Safety Thre ", Press the "Update" link to
m

update the “Safety Threshold”. The red alert will be shown when any product is in a

state that "safety threshold" <= "sold quantity". The alert will return to @Wheﬂ

t’he uncutoff (Cutoff state = False) products’ "safety threshold” > "sold quantity”

- hange Safety
Product Sold Quantity Safety Threshold Cutofl state
Season Buffet 8 200 False
Urange 74 80 False
PhonedS 12 a0 False
Buffet Coupen 21 300 False update
Yoga Ceurse 16 105 False update
4 days Beifulg Trip 4 30 False update
HetDog 14 16 False update
undo curolf

—UpdateThresheld
|15

In StockCheckRunnable,java, 1ill in the missing part for
o sendMessage(), a function that according the given status, send message to
Netcool Omnibus System; modify the parameter so that the message
respresenting your team will be shown. Please find detail in Hints and Tips.

Question 2.5-p2




IBM Inter-University
Programming Contest 2012

s findMsgDpe (), a function that determine the type of message the system
should send to Netcool Ominibus; setup logic to return a boolean value,
(False - green, True - red) for alerting purpose.

-

Target Results
To score points for this question, achieve the followings: (partial score will be

rewarded for each condition alert), please refresh the page after the submission

1. Access the "Safe Threshold" in Firefox http:/localhost:9080//
QS5Web/changeSafety.jsp to change the Safety Threshold accordingly.

- Change Safery - IRt - -

Product Sold Quantity Safety Thresheld Cutoff state ‘Update Threshold Cutofl
Season Buffer b 200 False update cutoff
Orange 74 80 False up-late skl
IPhenedS Tz 50 False update cupeff
Buffer Coﬁpon 21 200 False update utoff
Yoga Couwrse 16 105 False update cutoff
4 days Beifing Trip 4 20 False update cutofl’
Hot Dog 14 16 False uplats cuteff’
undo curoff

If your implementation is correct, the result should look this

1, When "Safety Threshold" of any of the product is smaller or equal to the "Sold
Quantity", the table that represent your team will lights up a Red alert on the Omnibus
dashboard. |

2. The table of your team on Omnibus dashboard will display back to a Green status
¢ when the alerting product is cutoff AND
e All product with a "False" cutoff state has the "Safety Threshold" greater than
"Sold Quantity".
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Hints and tips

Open StockCheckManager,java and search for the missing part, you can use the steps
described in Questionl to open the StockCheckManagerjava in the RAD console and

search for missing part

% Java Resources

B sre

2 {default package)
a4
e i ThresholdUpdataManager, java
i [ UndoCutoffManager, java

% JawaScript Resources
~ffy Seeurity Editor

o Weh Site Mavigation

B WehContent

- META-INF

B (5 WEB-INF
changesafety. jsp
“fer] updateThrashold.jsp

Fill in the missing part for alerting logic.

private void senddessage (String status) throws InterruptedException, IOException{
Fimissing pare
SABodify the parsmetsrs Lo 2end eXSS8Aye YeRpresenting your resw
Runtiwe . getRuntime() ”
cexec (PO Y postanag, exe —~f OV vmy.ocond -r CRITICRL —m contest EvenvID=1XY situ
gaivFori):
}
private boolean isked(int totalboughtguantcicy, int threshold,
bhoelean cutoff, hoolean ocutstanding) {
Fédmimzing parn
Fdwndify co return hoolsan wvalue that satisfy oondicions spesified
return false;
}
private boolean isGr=en{int totalboughtguantity, int threshold,
hoolean cutoff, bhoolean outstanding) (.
flwissing pare
SAmcelify e resurn booleasn values thal zatisfy conditions speaified
return false;

i

You are advised to skim the comment in StockCheckRunnable.java and Database

schema.

Here show two commands for the completing the background process. The first
command is to change the traffic light of team<Y> to red, and the second command is
to change the traffic light of team<Y> back to green. You can modity the two
commands by charige Y to your team number, and XX =Y with a prefix 0 if'Y is single
digit. For example, if Y = 1, then XX = 01. Then the two commands will become:
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postzmsg.exe —-f my.conf -r CRITICAL -m contest EventID=101
situation_name="teamXX" satuation status="Y"
integration type="um

situation origin=teaml situation displayitem='teaml' teaml ITM

and
postzmsg.exe -f my.conf -r CRITICAL -m contest EventID=101
situation name="teamXX" satuation status="N"
integration type="Q"
situation origin=teaml situation displayitem='teaml' teaml ITM
respectively.

In Java, the function Runtime. getRuntime().exec().waitFor() is used to execute a
system command. Absolute paths must be specified for the program "postzmsg.exe"
and the file "my.conf". For simplicity, copies of both files are already copied into C:\

As aresult, the complete Java statement to send a GREEN alert is shown below:

Runtime.getRuntime () .exec("C:\\postzmsg.exe -f C:\\my.conf -r
CRITICAL -m contest EventID=101 situation name=\"teamt\"
satuation_status=\"N\" integration type=\"U\" situation origin=teaml

gituation displayitem='teaml' teaml ITM").waitFor();
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Appendix

This is the source code for StockChangeManager.java

import java.io.|OException;

import java.sgl.Connection;

import java.sgl.PreparedStatement;
import java.sgl.ResultSet;

import java.sgl.SQLException;
import java.util. Arraylist;

Import javax.naming.InitialContext;
import javax.naming.NamingException;
import javax.sgl.DataSource;

public class StockCheckManager {

private static void sendMsg (String status) throws InterruptedException, I0Exception{

/{missing part

//Maodify the parameters to send message representing your team

Runtime.getRuntime()

.exec("C:\\postzmsg.exe -f C:\\my.conf -r CRITICAL -m contest EventiD=1XX
situation_name=\"teamY\" situation_status=\""+status+"\" integration_type=\"U\" situation_origin=teamy
situation_displayitem="teamY' teamy ITM")

WwaitFor();

private static boolean findMsgType{Arraylist<integer> soldQuantityList,
ArrayList<integer> thresholdList,
Arraylist<Boolean> cutoffList){
//missing part
//Modify to return a type, true represent red message, false represent green message
return false;

public static void run{}{

String sql =
"select ® 0y °
“from {select * Ny
“from product "+
“where uid = 1004 "+
"availProd join "+
"(select pid, sum {bquan} as soldQuantity "+
"from transaction "+
“group by pid "+
"} tranCnt on avallProd.proid = tranCnt.pid *;
try {
InitialContext context = new InitialContext{);
DataSource source = (DataSource)} context.lookup ("jdbc/ecomm’);
Connection connection = source.getConnection();
PreparedStatementstatement = connection.prepareStatement{sql);
ResultSet results = statement.executeQuery();

Arraylist<Integer> soldQuantitylist = new ArrayList<integer>();
ArrayList<integer> thresholdList = new ArrayList<integer>();
Arraylist<Boolean> cutoffList = new Arraylist<Boolean>({);
while {results.next{)}{
soldQuantityList.add{results.getint("soldQuantity”}};
thresholdList.add(results.getint("quantity"));
cutoffList.add(results.getString{"cutoff"}).equals("T"));
}
boolean type = findMsgType(soldQuantityList, thresholdList, cutoffList);
sendMsg{type?"Y":"N");
} catch {(NamingException e) {
// TODO Auto-generated catch block
e.printStackTrace();
} catch (SQLException e) {
// TODO Auto-generated catch block
e.printStackTrace();
} catch (InterruptedException e) {
/{/ TODO Auto-generated catch block
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e.printStackTrace();

} catch (I0Exception e) {
// TODO Auto-generated catch block
e.printStackTrace();

®
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Question 2.6 (145 point)

Apply various discount to the buying process when different payment method is selected,
Access customer transaction record and print invoice from the websiie
Requirements
There are 2 parts for the requirement.
»\‘M‘
Add logic to complete the buying product process for the 1st part.
QM . \.—_—. v . 3
The customer menu consists of 2 webpages, which are CustomerMenu,jsp and Buy.jsp.

- 2 1o > , . ; -~
Run the customer menu using the page CustomerMen, JSpr .
Custener Menu
Fredugy— == - - -
e ba Bonght Reserd
13 produsts are On Sules!
Product Name Descriptinm Unit Price Quantity Sold guuntity Action !
‘hangs Crenge 20 200 74 Bowglsl  Buy
Buffst Cougon Buffet Coupsn 1506 303 21 Boughtl  Buy
Yoga Couse Yoga Cowse Jauv 105 16 Bought!  Eyg
Hot Dog HEotDog 15.0 13 14 Bowghtl  Bum
Trigs 4o Taipei Tzip 1o Taper 30639 1060 13 Bought! Buy
[honedS IPheone 48 5000.0 50 12 Bought! Puy
BN SPSE Modeler  Data Minug Tnols 2000 10 M Bewghtl  Bay
Szaron Buffet Trtmustions! Cuisme 100,06 20 8 Bought! Dyy
4 days Belfmg Toig 4 deys Beigg Trip 30000 30 4 Beuglat  Bay
T Shin Dole ' - Shirt 00 1 0 Bowhtl Buy
Shoss Red Rirg Sheee 12000 00 0 Boughtl PBuy .
Folo Shuri Polo Start 00 400 G Bouwghll By
Apple Apple 49 260 0 Boughtl Iuy

By clicking the "Buy" links in the "Action" column, the Buy.jsp will be executed for
inputting quantity and Payment method for a new buy.

Buy Product

¢ Please flin the form

Quantity B __li

 Pagment method: | Credit

In Buy,jsp, there are 2 missing parts. Fill in the missing part to
——>e Insert a new record to transaction table.
L mal price with different discount for different.
_ © Avariable double Price =0; is initialized for you.
, e You will get some parameters from CustomerMenu.jsp which include:
?@% s -PID -UID  —Uprice ~Pname -Descip
e For variable “PayMethod”, there are 4 types:
‘ @ PPS @ E banking
e Ther€ are some discounts for paypal and credit card:
Paypal - 0.95 Credit Card - 0.9
For the 2nd part, add logic to complete the invoice printing process

“

[ P >paypal . C )~ credit card
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The print process is implemented by Print,jsp in which it calls the java program

Traninfo java.
Printisp
CustomerMenu.jsp M BoughtRecord.jsp 2 ECOMM
Traninfo java Database

Open the CustomerMenu jsp, click on the "Go to Bought Record" link on the top of the
screen to open the BoughtRecord,jsp which display the customer transaction record

- Customer Record

Frodnt

You have bonght U products

Product Name Description Unit Price Bought Quantity Total Price Action !
Season Buffey Internatiornial Cuising {04 0 2 190.0 E:;-—': :
Crange Orange et} 0] 210 Frat
CGrange Vrange 2.0 25 F10 Print
Yoga Course Yoga Course 5210 12 5400 0 P
Trp to Taipei Tiip to Taipet 30000 2 4860 U Pt
TPhonedS 1Phone 48 000 3 121300 rint
HotDiog Hot Dog 15.0 1 110 Pon
Buffel Coupon Bulfet Coupon 150.0 [ 7280 Prnt

4 dnys Beling Trip 4 days Besjing Tnp 300086 4 9720.0 Print
TPhenedS IThone 435 so0ie 2 95000 Prat
IBM SPES Modeler Diata Misng Tools 2000 2 400 ¢ Prnt
Yoga Course Yoga Conrse 520.0 1 500.0 J‘_:Q
Season Buifet Intemationsal Cuising 1000 4 400.0 Pors

By clicking the "Print" links in the "Action" column, the Print jsp will be executed for
displaying the transaction record selected, all the fields are displaying "Missing Part"
are shown as below

-

Invoeice
: Product B
Customer Name: i:[nvome Number:
| iMiscing Part Missmg Part
‘ EProduct Hatne: Ter price.
| Mcsing Pary {Missing Part
; [Pay Method: Qumh*v

fissing Part Missing Pact
: ;’I‘omj Prics.

issing Part

In Traninfo.java, fill in the missing part to:

e Create the constructor Traninfo(int TID) to connect to the ECOMM database
and get the transaction details with the transaction ID (77D) passed to the
constructor. _

e Create the following method inside constructor Traninfo created above for
Printjsp to get the value to display in the form

o getTID()

Question 2.6 - p2




IBM Inter-University
Programming Contest 2012

o getPname()
getUprice()
getPaymethod()
getBquan()

C 0O O o

getPrice()
O getUname()
In Print jsp, fill in the missing part to:
e Create an object to exccute the Traninfo java class which created above and
pass the TID to the get the transaction detail record.
o Call the method created above in TranInfo class to display corresponding value
at form respectively.

Target Results A
To score points for this question, achieve the followings: (Score will be given based on

the different discount apply to different payment method for the 1st part and different
fields in the invoice)

1. Access the customer menu in Firefox
http://localhost:9()80/Q6Web/Customei‘Mfenu.j sp and press the *“Buy” link, the
Buy,jsp will be displayed. Input the buying quantity and press "Confirm" button.

If customer selects “PayPal”, a 5% (}iscoun‘r will be applied to the transaction amount.
If customer selects “Credit Card”, a 10% discount will be applied to the transaction
amount. All other method will have no discount.

If your implementation is correct, the correct discount will be shown as shown below

Buy Product

Transaction Suscessfill
. Transastion Detatls -~
FProduct Mame: Buffst Coupon
Desciption:  Buffet Coupon
. Usidt Price: 150.0
| Quantity. 3
Discount: 0.95
i Total Prics,  427.5

Eask to Customer Menu
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2. Access the customer menu in Firefox

http://localhost:9080/Q6Web/CustomerMenu.jsp and press the “Go to Bought

Record” link on the top of the screen and press "Print" link at the BoughtRecord jsp,

If your implementation is correct, the correct transaction information will be shown as

below
e
Invoice
T
B !Customer Mame: E]nvoice Mumber:
| Paul i1no3
- Prodact 1ame: Uit prive:
Pay Method Quantity
e 200
5 Tatal Frice:
27 ¢
Back o Bought Record

Hints and tips

Open Buy,jsp and search for the missing part, you can use the steps described in

Question! to open the Buy.jsp in the RAD console and search for missing part
L"_&—Eﬁf;—“; DEWeb
* -BE QeWeb
ﬂﬁi Java Resources
s
E”Eﬁ Tran
( 4] TranInfo,java
: -2 Librariss
7 JavaScript Resmrces
';5:3 Serurity Editor
Web Site Navigation
B WiebZontent
(5 META-INF
BR-(3 WEB-INF
fo BoughtRecord. jsp
. Buty. fsp
s [a] CustomerMenu, jsp
] Print.jsp

To continue with the 2nd part, open Transinfo,java and Print jsp and search for the
missing part.

After you completed your coding you can use the steps described in Questionl to open
the CustomerMenu.jsp in the RAD console and test the result.
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Appendix

This is the source code for Buy,jsp

<%@page import— Java lang.String, java.lang.StringBuffer” %>
<%@page import="' Java sql.Connection, javax.sgl.DataSource, java.sql.PreparedStatement" %>
<% @page import=" Java sgl.ResultSet, java. sql Statement" %>
<%@page import="java.sgl.SQLException, javax.naming.NamingException,
javax.naming.InitialContext" %>
<IDOCTYPE HTML PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"><%@page
language="java" contentType="text/html; charset=1SO-8859-1"
pageEncoding="ISO-8859-1"%>
<html>
<head>
<title>Buy</title>
<meta http-equiv="Content-Type" content="text/html; charset=1S0-8859-1">
</head>
<body>
<h1>Buy Product</hi>
<div style="width:600px">
<fieldset>
<%
try {
//define variable and
double Price = 0;
boolean flag = false;
String TID = request.getParameter("TID");
String UID = request.getParameter("UID");
String PID = request.getParameter("PID");
String Uprice = request.getParameter("Uprice");
String Bguan = request.getParameter{"Bquan”);
String Paymethod = request.getParameter{"Paymethod");
String Pname = request.getParameter{"Pname");
String Descip = request.getParameter("Descip"”);

if(PID == null){ .
%>
Please Select a product.
<%
}else if (TID I= null && ITID.equalslgnoreCase("") &&
UID 1= null && 1UID.equalsighoreCase("")&& J\Ou
PID I= null && IPID.equalsignoreCase('"") && ‘ ()/h e uum'l' = 0.9
Uprice 1= null && Uprice.equalsignoreCase("") &&
Bquan = null && !Bcﬁ)uan.egualslgnoreCase("“))&& 7F (PQ/ mjf& ‘A 3 ) J\ seonae O
Paymethod 1= null && IPaymethod.equalsignoreCase{"" /oM
y v qualsig (")} e )7 ;, Tl (F‘n/rm‘”\ WA )Y diseende 0"\
// Process after submitting the Buying Form below ) 1
/*  missing part

Please Complete this part Pf‘fc U \)f" Sl ﬂ( ;‘7{)1 na "\ & A;j(ohﬂ'}' ‘3

Calculate the Price with payment method discount.
*/
if (Price 1=0){

InitialContext ctx = new InitialContext();

//obtain data source from application server
DataSource windowsDS = (DataSource)ctx.lookup("jdbc/ecomm™);

//Get connections from application server
Connection windowsConn = windowsDS.getConnection();

PreparedStatement pstmt = null;
/¥ missing part
pstmt = windowsConn.prepareStatement(" Please Complete this missing SQL

statement’) msect (T)D PDADY afo  Tramsachiva
flag = pstmt.execute(); wm 'TL\MI} Toana P"‘ 0
if (pstmt t= null) {
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}else

pstmt.close();

if (windowsConn |= nuli) {
windowsConn.close();

out.printin{"Transaction Successfull");

out.printin{"Total Price is 0. Transaction Faill Please Complete the missing part.");

if {flag == false) {

<legend> Transaction Details</legend>

%>

<table>
<trs
<ftr>
<tr>
<ftr>
<tr»
</tr>
<tr>
<ftr>
<tr>

<%

%>
<ftr>
<tr>
<ftr>

</table>

<%

%>

<td><p>Product Name:</p></td>
<td> <%= Pname %></td>

<td><p>Description:</p></td>
<td> <%= Descip %></td>

<td><p>Unit Price:</p></td>
<td> <%= Uprice %></td>

<td><p>Quantity:</p></td>
<td> <%= Bquan %></td>

<td><p>Discount:</p></td>
<td>

if (Paymethod.equals("P"})
out.printin(*0.95");

else if (Paymethod.equals("C"))
out.printin{"0,9");

else
out.printin{"No"};

</td>
<td><p>Total Price:</p></td>

<td> <%= Price %></td>

}else {

<legend>ERROR: Transaction Error.</legend>

<%

}else {

InitialContext ctx = new InitialContext();

//obtain data source from application server
DataSource windowsDS = (DataSource)ctx.lookup("jdbc/ecomm");

//Get connections from application server
Connection windowsConn = windowsDS.getConnection();

Statement stmt=windowsConn.createStatement(ResuItSet.TYPE_SCROLL_INSENSIT!VE,

ResultSet.CONCUR_READ_ONLY);

ResultSet rs = stmt.executeQuery("Select max(TID) as TID FROM transaction”);

int numRow = 0;
if (rs I= null && rs.last() = false) {
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numRow = rs.getRow(};

rs.beforeFirst();
rs.next{);

int tempTID = rs.getint{"TID")+1;

if (rs 1= null} {
rs.close();

}
if (stmt I= null) {
stmt.close();

if (windowsConn = nuil) {
windowsConn.close();

}

%>

<legend>Please fill in the form</legend>

<form method="POST" action="<%= request.getRequestURI()%> '>
<input name='"TID' type="hidden' value='<%=tempTiD%>' />
<input name="'PID' type='hidden' value='<%=PID%>" />

<input name="UID" type="hidden’' value='<%=UID%>" />

<input name='Pname’ type='hidden’ value='<%=Pname%>' />
<input name="Descip' type='hidden' value='<%=Descip%>' />
<input name='Uprice’ type='hidden’ value='<%=Uprice%>' />

<table>
<tr>
<td><p>Quantity:</p></td>
<td><input name='Bquan' type="text' size='8' maxlength='8' /></td>
<ftrs>
<tr>
<td><p>Payment method:</p></td>
<td><select name='Paymethod’>
<option value ='C'>Credit Card
<option value ='P'>PayPal
<option value ='S'>PPS
<aption value ='E'>E Bahking
</select>
<ftd>
<ftr>
</table>
<input type="submit' value='Confirm!' />
<fform>
<%
%>

<br/><a href='<%= request.getContextPath() + "/CustomerMenu.jsp"%>'>Back to Customer Menu</a>
<%

} catch (SQLException e) {

%>

<div style='color: red'><%= e.toString() %></div>
<%

1

%>

<ffieldset>

</div>

</body>

</html>
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This is the source code for Traninfo.java
package Tran;

import java.sgl.*;

import javax.naming.InitialContext;
import javax.naming.NamingException;
import javax.sql.DataSource;

public class Traninfo {
private int TID;
private String Pname;
private double Uprice ;
private String Paymethod;
private int Bquan;
private double Price;
private String Uname;

public Traninfo(int TID) throws SQLException, NamingException{
/*
Please Complete this Missing Constructor
There are some codes for your reference

try{
InitialContext ctx = new InitialContext();
//obtain data source from application server
DataSource windowsDS = {DataSource)ctx.lookup{"jdbc/ecomm");

//Get connections from application server
Connection windowsConn = windowsDS.getConnection();

//Create statements in connection

Statement stmt=windowsConn.createStatement(ResultSet. TYPE_SCROLL_INSENSITIVE,
ResultSet.CONCUR_READ_ONLY);

}
catch{ SQLException e) {
System.out.printin(e); “

caich (NamingException e}{
System.out.printin{e);

*/

. ) go ny

/ 4 ‘
Please Complete this missing part for calling get method 9@% //U‘l‘

*/
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This is the source code for Print,jsp

<% @page import="java.lang.String, java.lang.StringBuffer" %>

<% @page import="java.sql.Connection, javax.sgl.DataSource" %>

<% @page import="java.sql.ResultSet, java.sgl.Statement" %>

<% @page import="java.sql.5SQLException, javax.naming.NamingException,

javax.naming.InitialContext" %>

<IDOCTYPE HTML PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"><%@page
language="java" contentType="text/html; charset=SO-8859-1"
pageEncoding="1S0-8859-1"
import="Tran.TranInfo" %>

<html>

<head>

<title>Print</title>

<meta hitp-equiv="Content-Type" content="text/html; charset=15S0-8859-1">

</head>

<body>

<hi>Invoice</hl>

<div style="width:600px'>

<fieldsef>
<legend>Product</legend>
<%
i String TID t.getP ter("TID") {
ring = reguest.getParameter ; o - N
// missing part : Create object of Traninfo class C\\. ,(\/ \\ p /',
%> o - N -
<table width="100%" border="1"> Tr?/\n‘ n'(‘:o mﬁg v plw TYO\/\ZW/Q ( T’D )’
<tr>
<td width="50%"> o,
Customer Name: ~ .
<br />Missing Part Q{} k= UV\(A\mQ \Z >
</td>
<td>
Invoice Number:
<br />Missing Part
</td>
</tr>
<{r>
<td>
Product Name: .
<br />Missing Part < PVV\""»@ >
</td>
<td>
Unit price:
<br />Missing Part \) e
</td> P
<ftr>
<tr>
<td> .
Pay Method: D, ) l\
<br />Missing Part , (4// md \h vo
</td>
<td>
Quantity: ~ '
<br />Missing Part fg Tha
</td>
</tr>
<{r>
<td></td>
<td> ~
Total Price: YN
<br />Missing Part rr7 r
</td>
</tr>
</table>
<%
} catch (NumberFormatException e){
%>

<div style='color: red><%= e.toString() %></div>
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<br/>Please Select a transaction,

<%

}

%>

<br/><a href='<%= request.getContextPath() + "/BoughtRecord.jsp"%>">Back to Bought Record</a>
</fieldset>

</div>

</body>
</html>
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Question 2.7 (50 Points)

After the website has been running for a few months, your marketing team wants to
understand more on the behaviour on the customer accessing the website. You have
the log files of the website on when, who and what the customer has done. However
the information is in a text file format and unstructured, therefore it is not easy to

analysis.

Requirements

Biginsight  jegee
Linux- Redhat

P |

A 4

HIVE

/

) insert file for
Hagoop File HIVESQL
System (HOFS)
Wordcount

Leverage Putty to access the Biglnsight installed on our IBM Enterprise Cloud. In
this question complete the following tasks
e Use the wordcount function inside Hadoop File System (HDFS) to count the
words in the\'Weblog.txt" al¥eady stored,
o Use HIVE SQL and its function to select the Top 5 customers who have
accessed the website and the Top 10 Products who have been browsed. The

word count result is stored in the "wordcount" table inside HIVE.
Leverage WinSCP to get the output files to your local machine.
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To start this question,

£dt

vigw Favortes  Tools Heln

CiDocumen

and Sattings|db2adminiDesktop\Question - |

Basic eplions for your PUTTY session

; TL Laglgéxg ~Spesify the destihation you want to sammect lg - -y

eu{:::bﬁard Hest Nams {or P addiess) Pert

L Rell iz P

- Fealuies Cennaction type:

&5 Window ORew  (Teinet ORlogin DSSH O Sedial |
Arpearancs ~Lozd, save o delste a stered weeslon——————— -

Behaviow i

UL Tranedation Saved Sessions

- Selection [ -

+ Colours Defautt Settinge

= Connaclion hedaop
+ Dot
i Piory

Telnet

i+ Filogh
@ $5H
- Serial

{ Close vindow on exit .
CrAlways O Never (& Only on clean sxit

Aot | open  i{  Cancel |

Run the wordcount function in ZDFS with the file provided inside the HDFS as

shown below.

folder, eg /user/teamQT/data as shown above.

Leverage the training material to access HDFS and run the wordcount function. The

wordeount function is stored at the same jar files as in training, and the location is
(/mnt/biginsights/opt/ibm/biginsights/IHC/hadoop-0.20. 2~e)iczlmjlc’_—_5;[g1_1\j.

N‘“’M%.,—..
After you run the wordcount process, writre down the "Job Number". Get into HIVE
system to run the séelect statement for the top 5 customers and top 10 products

browsed.
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Please ignore the error message and run the ATVE function in the wordcount table.

ount table is located inside the HIVE as shown above.

The wordc

There will be 2 columns for the "wordcount" table (word - string, count - integer).
The "customer id" is in the format of CID___ (eg CID12345) and the "product id"
is in the format of PID__ (eg PID12345)

The output file should stored in the path of the folder of your team folder which

access have been granted to which is your team, (ie, "/home/teamXX/result").

Here is the insert to local directory and select statement syntax in HIVE
INSERT OVERWRITE LOCAL DIRECTORY *“local directory path”
SELECT [ALL | DISTINCT] select_expr, select_expr, ...

FROM table_reference

[WHERE where_condition]

[GROUP BY col_list]

[SORT BY col_list] desclasc

[LIMIT number]

After complete the HIVE SQL statements you can use WinSCP located in the Question
7 folder same as Putty, select hadoop and login accordingly to connect

2 EESIIN

i Stored sessions
Envirormert L Edit ‘
L. Directories T
S5H ] ~ Delate
Prefarences

i New folder...

Set defaults

l Shellicon...

S — e 1 Tools... l

[T] Advanced options S

About... - Loain i!

: 1 Close J
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The output file will be stored in the path in the HIVE SQL statement

ced Mark (Fies Comenends Sesslon Optons Remote

Parent directary
File Folder
il Feldar “
Fils Felder 187742011 ...
Fitz Folder ysfzoiz o,
Fits Folder 1162012 ...
79 Configwation S..,  12{72011 ...

In order to score points for this question, you will need to provide the following to the
judge. (score will be rewarded for each complete task)

1, The job number you have run the wordcount (please send the job number to the
judge via Sametime), judge will check the status via on the "Job status" page on the
Biglnsight dashboard (URL should refer to the training material)

2, You will need to run 2 queries against the “wordcount” table on the HIVE system to
get the top 5 customer id and top 10 products_id into text files and send it to the
judge for scores via Sametime. You should use the insert to local directory function to
put the result into text file.

Hints and tips
You will need to use the following tools

e Putty to access the server which store the log file, please log in Putty using the
profile "hadoop"

e WinSCP to transfer the files from Server to local system, please use the
hadoop profile in WinSCP Login

Your login username and password to the server (170.225.160.157) has passed to you.

You need to access the HDFS and HIVE to perform the task for this question, you
only have access of the folder of your team number. (eg team01)
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Question 2.8 (50 Points)

Information about the product has been stored at the database for the eComm portal .
and it is useful for management to understand the business. In this question, you will
leverage the Business Intelligence tools to extract the data to present to the

management,

Requirements

Cognos Business
Intelligence

. Database

Leverage the Cognos 10 Business Intelligence installed on your local machine. In this

question complete the following tasks

~

e Create a report with a crosstab and a chart and save in th&Co gnos Public 7

e

folder structure,
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http://localhost/ibmcognos,

My nbor

o
g% Adminlsier 4 Conpos cotat

click on “Author advanced reports” to launch Report studio

To start the question, you will open your browser and access the followmg, s site

8 Croste my workspates

PR

@ Suthor busliess repats

%\‘ Query oy data

4 Awalyze ny business

Manage oy avents

Select the ‘*ECCOM> » package for your report, if pop up is disable on your browser,
you will need to enable pop up AND repeat the previous step.

Recently used packages:
Nong

List of all puckages:
Cagnes » Public Folders

|Hame ¢
ECOMM ~y
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Create your report in report studio and select crosstab for the 1% part 01‘ the

requirement.

The upper paﬁ of the report isa “Crosstab” with
o “Name” in the "Product" table for the "rows" and
e  “Unit Price” & “Quantity” in the "Product" tables for the "Column"

e The Crosstab is filtered just to show the 6 "Products" selected as shown in the

result

For the 2™ part of the requirement you need to create a column chart below the

crosstab, drag and drop chart from the toolbox to the report area

I Hpifieooiba

i ek item

{Ziglodk
8 ek
(8 Fd S
BB txary Cotendation

[ epmt Candation

B rasm

T3 tromtas dpsee

L1 Crossiah fpace (vithfart cods}
8 Censes
4

P o

Select c,olumn chart at the chaﬁ eelectlon box
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i)
» !L»_' Poyessve
i Parse

{35 Pad
¥ G

g pestrics Ratge
i“{; Merochart

|

l

i | o

LJU‘EH :

o

By
f

iy
iiany
onsag

o1 vt et v e

[eraestait

Create the chart with the following requirement.

The lower part of the report is “Column Chart” with
e ‘“Name” in the "Product” table as the "Series" and
e “Quantity” as the "default measure".
e The X axis is labeled as "Product Name"

After you complete the question, you save the report as teamXX in the ECOMM

folder

Results
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‘Q&bw .

h;days Bediing Trip
Bufiet f::c:u;:-&-n = S0
HetDog | 15 300
IEM SRS Modeler 200 10
Trip to Taipei 3000 100
Yoga Courge ek 105

B 4 days Beljing Trip
£ Buffet Caupan

1‘000 e e ey @ Hot DCJQ

41BN SPSS Modalsr
B 1Phoned S

B Orange

Senson Buffet
Shoas

T- &hirt

Trip to Taipsi

Yoga Course

SDD U P N S SR

QUANTITY

400 e e e e e e e e

Product Mame

@

The report should be saved at the Public Folder->ECCOM folder as “TeamXX”
Please refer to the Hint and tips session for the details of the report requirements

Hints and tips
You will need to use the following tools
e Cognos Business Intelligence Tools — To access the tools access the following

website from your browser

Question 2.8 - p5




IBM Inter-University
Programming Contest 2012

Question 2.9 (50 point)

Create the administration portal

Requirements
Go to http://portal.ibm.com:10039/wps/myportal and login with your own ID &

password.

Construct a portal screen which consists of 3 portlets constructed in Q2, Q5 and

Programming Contest Logo.

To score points for this question, you need to achieve the followings: (score will be

rewarded for each complete task)

R
rogtenzo2

i . Buna

AdminMenu :
- Froduit 1BM Inter-University o
: Programming Contest Bl
Yieu have added % praoe(s), - T
Produet Wame Description Unit Pics  Qranbity  Action )
Geasen Fullet Iatermatios! Cuiting 1 204 Tt . V; Fre
range Drangs 20 w0 Upae
TPueneds ITheane 48 000 100 Updatg "0‘5' R

- 1500 2
5500 w3
4 s B Tip 0041 EN
140 ol

Bt Covpin

| Badect

&0 e

Sheez Ked Rung Shises 12044 w0
AddTredut | epen
| Yoga Cowse
1 4 doos Beifos Trip
_ _  HatDag
s pemmgmmn. @ 1

1, Go to http://portal.ibm.com:10039/wps/myportal and login with your own ID &
password. You should create 3 portlets as the upper picture.

2, The titles of those portlets should be Banner, Q2 and Q5.

3, The heights of portlets should be 560 pixels for Q2, 200 pixels for Banner and 300
pixels for Q5.
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You will need to use the IBM WebSphere Portal for editing your own page
e For portlets for Q2 and Q5, the URL should be:
http://<your IP>:9080/Q2Web/AdminMenu.jsp.
hitp://<your IP>:9080/Q5Web/changeSatety.jsp.
Don’t use localhost as the judge cannot see it.
The URL of Banner should be http://portal.ibm.com:10039/wps/banner.jpg

[
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Appendix I

ecomm database schema

Table Name: USER

Name Data Type Description
USERID INTEGER(4) Unique Identity
USERNAME VARCHAR(10) User Name for login
PASSWORD VARCHAR(10)
TYPE CHARACTER(1) User Type(‘S’, A, “C”)
S means “‘Special”
A means “Admin”
C means “Customer”
ADDRESS VARCHAR(40) Customer Address
PHONE DECIMALC(S) Telephone Number
Table Name: PRODUCT
Name Data Type Description
PROID INTEGER(4) Product Identity
NAME VARCHAR(30) Product Name
DESCRIPTION VARCHAR(250) Product Description
UNITPRICE DECIMAL(7) Unit price of products
QUANTITY INTEGER(4) The expected cut off
quantity / Threshold
UID INTEGER(4) User ID of product owner
(Seller)
CATEGORYID INTEGER(4) Product Category ID
(100/101/102/103)
CUTOFF CHARACTER(]) Status whether the offer of
product has been cut off
OUTSTANDING CHARACTER(]) Status that the sold

quantity is more than or
equal to the expected
cut-off quantity /
threshold and that a green
omnibus restore message

has not been sent.




IBM Inter-University

Programming Contest 2012
Table Name: TRANSACTION

Name Data Type Description
TID INTEGER(4) Transaction ldentity
PID INTEGER(4) Product Identity
UID INTEGER(4) User ID of Buyer
PAYMETHOD CHARACTER(1) Payment method
C — Credit Card
P — Paypal
S—PPS
E — E banking
BQUAN INTEGER(4) The Bought Quantity of
each transaction
PRICE DECIMALA(7) Total price of each
transaction
Table Name: CATEGORY
Name Data Type Description
CATEGORYID . INTEGER (4) Category Identity
NAME VARCHAR(30) Name of Category
100 - Food
101 — Travel

102 — others
103 — Electronic Devices

Table Name: PRODUCTRELATION

Name Data Type Description
CATNAMEI1 VARCHAR(20) Category name 1
CATNAME2 VARCHAR(20) Category name 2
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